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Cost of Carry Model

Expectation Theory
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F(t) > S(t) +Co+Te
2
F(t) < S(t) +Co+Te
2 300
300
300
2006.10-2008.10
2008.11-2010.1 2008.10
300 2008.11
1-5 300
90%
180 230 -50 410
2006.10- 554 506 48 1060
2008.10 1123 953 170 2076
1618 1198 420 2816
9 76 -67 85
2008.11 70 146 -76 216
-2010. 1 190 240 -50 430
340 345 -5 685
1 2006.10-2008.10 300 2816
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300 IF0711 ETF
1-8 300 ETF
300 1F0711
2007.9.28 5580.81 7703 5.09
2007.11.15 5081.11 5191 4.64
30
1-9
5580 x 300 167.4 IF0711
2007.9.28 167.4 7703 x 300 =231.09
/5.09 32.888
167.4 231.09
X 25 4185 X 1.5 346.6
167.4 34.7
328880 X 1F0711
2007.11.15 | 4.64 / 152.6 5191 x 300 155.73
152.6 155.73
X 25=3815 X 1.5=233.6
152.6 -167.4 - 4185 7703 -5191 x 300 -346.5
+3815 =-156000 -233.6 =753020
1 167.4 2
3 346.6 4 34.7
2025531.6 2025531.6% 5.31%x  49/365







3628.1

2
14 4 19
1-11
11 2
TAIEX04 6 6921 6835 +86
TAIEX04 7 6795 6805 -10
+76
200x  6921+6835 x  6/365 x 6 %=2713
=200x  6805-6835+6921-6795 - 6921+6835+6795+6805 x 200x 0.046%-2713

=200x 96-2516.8-2713

=13970.2

13970.2










300



300



=B x S/F



300

B
1 B
2008 9 15200
B 0.9 300 0903 1950
300 12%
300 0903
0903
=B x S/F=0.9x 152000000/1950/300=233.8
233 233 300 0903

1950x 300x 12%=70200

A 300 0903

08 10 1380 11215.7
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2008 9 15200 1950 1950 233 09 3
300
2008 10 11215.7 1380 233 09 3
300
15200-11215.7=3984.3 1950-1380 x 233x 300
=3984.3
3984.3-3984.3=0
B
300 0903 09 1 2067
16050.7
2-2
2008 9 15200 1950 233 09
1950 3 300
2008 10 2067 233 09
16050.7 3 300
16050.7-15200=850.7 2067-1950 x 233 x
300 =817.8
850.7-817.8=32.87




09 3 23 5 27 300
A B 10 20 25 100
10 5 4 5
300 B 1.3 1.2
0.8 B = 1.3x 1/3+1.2 x 1/3+0.8 x 1/3=1.1
3 23 300 2440 5 27 300 2750 3
23 6 300 2460 5 27 6 300
2815 =3000000/ 2460 x 300 x 1.1=4
2-3
2009.3.23 2440 5 27 300 2460 4 09 6
A B C 300
10 20 25
2009.5.27 2750 A B C 2815 4 09 6
11.7 23.05 27.5 300
342.25
42.25 2815-2460 x 4 x 300
=42.6




